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Chapter 2 Matrices

Answers to Odd Numbered Homework Problems at end of sections
and
Answers to all problems in Chapter Review Section

2.1 Introduochon o Madrices

y e 18 3) | 8y 5) [ne.2]

14 13 62
9 54

n 2% 20
o 1 5

q 3% 1§
D AB= 3 n \ql ay ABrBA= |\ 2
3% 20
] 15 13 20

) 9pe= 10 3) A*B = 103 123 oo
30 3N 52 Y4

l6 1o T

\5) FE=X& b)&”‘ ”} =\amtbp an+ bc}_}
cd]lP ¢ em+dp Q.v\irdq,
1) Hois a 3%l madrix. Gisa 3x3 madviX.

He does notexist because the nombesr of colomns it

does not Yhe nomber of roLs G

iy [t -2 2 \(x 3
BT L T N
V-2 -3 JLE 2

201 2 2 2)x | {w 21 23 \(wl (i
1210 Iy t=1-5] or lo v -2t ix | =]-5
o\ 21z 9 4o 2|V q
! 033 |lw 15 31 03 ]]% 15 |




2.2 System of Linear Equations; Gauss-Jordan Method
1). 4.-1) 3). (2.-1.3)
5). (04,0.3) 7). (43,2, 1)

2.3 System of Linear Equations; Gauss — Special Cases

1). (4-3t 1) 3). Inconsistent system, no solution
5. 3—-47t-1+16/711) 7). No, they are not consistent.
9). (5,3.1),(4,3,2),(3,3,3) 11). (5-3s+t,s5.1)

2.4 Inverse Matrices
1 2 -1
5[23] 5 |13 3]
7). (4.2) 9). (3.3.4)

11). If a matrix M has an inverse, then the system of linear equations that has M as 1ts

coefficient matrix has a umique solution.  If a system of linear equations has a unique
solution, then the number of equations must be the same as the number of variables.
Therefore, the matrix that represent 1ts coefficient matrix must be a square matrix.

2.5 Application of Matrices in Cryptography
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2.6 Applications — Leontief Models

315.34
1). (t.—2t.)3). Chris=$1250, Ed = $1,000 s). {383.52}
44034

20/100 30/120 20/110

7). Farming = $201,754 38, Building = $307,017.54  9). {305100 10/120 ZOFHD}
10100 10/120 30/110

2.7 Chapter Review
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6). a (2,1,-1) b 3.2,1)
7). Apple =$.50; banana = $ 30; orange = $.40

8. a x=6-t,y=0,z=1;(5,0,1) b. no solution



9). n=3t—12,d=—4t+24 q=t;n=3,d=4,q=5

10). & x=4-2t, y=1tz=3:(4,0,3) b x=54t y=2-tz=1(1,1,1)

11). a x=5t,y=t,z=2t:(1,2,2) b. no solution

1 -2 1
pa[ 3 3] h_[-l 1 g]
1 1

13). a (-1,4.2) b. (6,4,2.-1)

22 77 59 [ 74 7 22 [ 60 17 7 57 T 74
14) a| 33 || 68 || 75 || 49 || 74 | v | 37 || 78 || 91

1 27 1L 27 4 21 5 15 1L 27
15). a NO PAIN NO GAIN b. GO FOR THE GOLD
16). x=40/33 t, y = 36/33 t, z=t; Chris = 40 hrs, Bob = 36 hrs, Matt = 33 hrs

17). Chris = 34.1 hrs, Bob = 32.2 hrs, Matt = 35.2 hrs





